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(1) RIBBEZEFRIT DD OBESEIFTNET
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(3) RIBESEFIINTC2IBEZEFTY
(4) switch XIEFRHHMXTEIHDIEA
(5) for XIFFIHIEIL—TTY
(6) do while XIFETHIFEIL—TTY
(7) for XOERHAZEIBITDERIC true KXV FT
(8) BHTEIN—TEMNT 1EIHR AIBIHRITINET
(9) break XZRB\DEETPDBR UNXNDSIRITDICENTEET
(10) Java CIIZBRITEAIIIER TSI EA
(11) BeEE CEDBHDEHNEEIRETCEET
(12) BLHIDBLHIBRIS new BEEFEZANTHEIRTEET
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(1) boolean b = (I (1) ) ==[ (1) J;

(&% 25t 10)

(2) boolean b = false || [ (2) |;

(3) boolean b = (false == (3) |) && false;

(4) boolean b = (false & false) || [ (4) |;

(5) boolean b = (true ? false : true) ==| (5) |;
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1 X 2 true 3 X 4 true > false

(R 4) RISEHIDOHMERMEZEITDI— BT, BSIZRHAE LIZERICIATD
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int[] aryl={2,1,0};

int[][] ary2={{e,1},{0},{1,0,1},{0,1}};

(1) System.out.print(aryl[@]);

(2) System.out.print(aryl[aryl[1]]);

(3) System.out.print(aryl[aryl.length-1]);

(4) System.out.print(ary2[1][0]);

(5) System.out.print(ary2.length);

(6) System.out.print(ary2[2].length);
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2 class Final@6{
3 public static void main(String[] args){
4 Car a=new Car();
5: a.num=1234;
6 Car b=a;
7 System.out.println(a.num); *1
8 b.num=5678;
9: System.out.println(a.num); * 2
10: }
11: }
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WERE
A. 1 (a%2==0) B. (a-2)>=0 C. 1(a%3!=0 || a%5!=0)
D. (a<@?a*-1:a)>=2 E. (a<@ || a>2)
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1 import java.io.*;

2 class Final@5{

3 public static void main(String[] args) throws IOException{
4: BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));
6 int m;

7 do{

8 System.out.println("FEBEZANDLFELLD. ");

9: m=Integer.parseInt(br.readlLine());

10: if(m==0)break;

11: twhile(m<1 || m>12);

12: switch(m){

13: case @: System.out.println("Ki®%E");break;

14: default:System.out.println("SI4ES : "+m+" ") ;break;
15: }

16: }

17:
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1 import java.io.*;

2 class Finale7{

3 public static void main(String[] args) throws IOException{
4: BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));
6

7

8

int 1 | gs={{2,3},{-5,4},{0,7},{3,3}};
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1: class Car{int num;}

int[] ansg 2 int[qs.];
: int pt=0;
9: System.out.println(" [BUERUJJL) & 2pt");
10: for(int i=0;i<qs.;i++){
11: System.out.pr‘int(qs[i][]+"+"+qs[i][1]+"=? ");
12: ans[i]=Integer.parselnt(br.readLine());
13: }
14: System.out.println(" [#E&] ");
15: for(int i=0;i<qs.;i++){
16: System.out.print(qs[i][@]+"+"+qs[i][1]+"="+ans[i]);
17: if(gs[i][e]+qs[1][1]=4_5 J[i]){
18: pt+=2;
19: }else{
20: System.out.print("("+(qgs[i][@]+gs[i][1])+")");
21: }
22: System.out.println();
23: }
24: System.out.println("I0&/R- > ~"+pt+"pt");
25: }
26: }
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2+43=2 5 &)
-5+4=? 1 &)
0+7=2 7 &
343=2 5 &
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2+3=5
-5+4=1(-1)
0+7=7
3+3=5(6)
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